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QUESTION 1

You work as a Network Administrator for ABC Inc. The company has a wireless LAN infrastructure. The management
wants to prevent unauthorized network access to local area networks and other information assets by the wireless
devices. 

What will you do? 

A. Implement a WIPS. 

B. Implement a dynamic NAT. 

C. Implement a firewall. 

D. Implement an ACL. 

Correct Answer: A 

 

QUESTION 2

Which of the following address translation types only translates one (and only one) IP address to another without using
ports? 

A. Dynamic NAT 

B. NAT 

C. PAT 

D. Static NAT 

Correct Answer: B 

 

QUESTION 3

An attacker makes an attempt against a Web server. The result is that the attack takes the form of URLs. These URLs
search for a certain string that identifies an attack against the Web server. 

Which IDS/IPS detection method do the URLs use to detect and prevent an attack? 

A. Policy-based detection 

B. Honey pot detection 

C. Anomaly-based detection 

D. Signature-based detection 

Correct Answer: D 
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QUESTION 4

What netsh command should be run to enable IPv6 routing? 

Each correct answer represents a part of the solution. (Choose two.) 

A. netsh interface IPv6 show interface 

B. netsh interface IPv6 set interface 

C. netsh interface IPv6 add address 

D. netsh interface IPv6 add routes 

Correct Answer: BD 

 

QUESTION 5

You are implementing a host based intrusion detection system on your web server. You feel that the best way to monitor
the web server is to find your baseline of activity (connections, traffic, etc.) and to monitor for conditions above that
baseline. 

This type of IDS is called __________. 

A. Signature Based 

B. Reactive IDS 

C. Anomaly Based 

D. Passive IDS 

Correct Answer: C 
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